OPERAZIONI MISTE ENTRO IL 500

Meftti in colonna e calcola senza la prova:

297 + 202 =
48 + 350 =
70 +191 + 120 =
456 - 388 =
465 - 455 =
414 - 201 =
67 x 2 =
72 x 6 = h ldal u
50:9 = + h ldal u
401:2 = + +
LKL
h |da| u h |da| u h |da| u h |da| u
+ i _ _
h |da| u h |da| u
X X
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Metti in colonna e calcola senza la prova:
{ o

100 + 163 = '
193 + 66 =
186 + 40 + 44 =
489 - 157 =
405 - 382 =
401 - 298 =
46 x 8 =
153 x 3 =
83:4:=
496:7- 1 ) )
VAV AVAYAY
h |da| u h |da| u h |da| u h ldal u
’ ) - -
h | daj u h |da| u
X x
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Meftti in colonna e calcola senza la prova:

260 + 67 =

83 + 407 =

28 + 333 +48 =

439 - 222 =

425 - 49 =

417 - 406 =

112 x 4 =

63 x 2= h |da| u

75:4-= + h ldal u

355: 5= + +

e W e A e

h |da| u h |da| u h |da| u h |da| u
+ _ _ _

h |da| u h |da| u
X X
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Metti in colonna e calcola ser@a la prova: “‘
\

414 + 85 = T
117 + 276 =
75+ 267 + 20 =
495 - 298 =
429 - 239 =
452 - 168 =
72 x 3=
132 x 2 =
80:6= + h |dal u
295:7 = + +
WEIREREREK
h |da| u h [da| u h |da| u h |da| u
+ _ _ _
h |da| u h [da| u
X X
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129 + 199 =

340 + 152 =

31+89+79:=

413 - 284 =

448 - 388 =

472 - 283 =

99 x 2=

162 x 3 =

83:6=

458 : 4 = +

OXROHKOKRORD

h |da| u h |da| u h |da| u h |da| u
+ i} _

h |da| u h |da| u
X X
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